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CO% CO, CH% H% 0% N, GHs; GCHs
Nm*h Mpa T % % % % %
39207 0015 264 1508 3097 1641 2632 091 567 012 0.16
3
C0% CO, CHY% H% 0% N, GH; GHg
Nm’h Mpa T % % % % %
39207 20 3193 1508 3097 1641 2632 - 567 012 0.16
4
CO% CO, CH% H% 0% N, GHs; GCHs
Nm’h Mpa T % % % % %
32320 189 5273 765 3756 3054 0 110 688 0.15 0.19
5
CO% CO, CH% H% 0% N, GH; CHs
Nm’h Mpa °C % % % Y% %
10037 180 325 - 089 9737 - - 07 - -
2
2.1
CO+3H,—CH+H,0 /AH0298=+206.14KJ/mol 1
CO,+4H,—CH,+2H,0 /AH0298=+163.08KJ/mol 2
CO+H,0—-CO,+H, /AH0298=+41.05KJ/mol 3
CH=C+2H, AH0298=- 75KJ/mol 4
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3.2 2008 36(30) 13328~13329.
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